EARAROBEEIERT — 2 N— IBISH —F

2017568128 (B) 3EIIIIE1H

m?ﬁiéﬁ‘éiﬁiﬁﬁ( 55%% B3C1 5% (xwlw | mEmml - |5 5 w8
[A&4£] 17 :2,700,000 @ 2 3&:945,000 @ 33 :540,000 § ~ 4 7% :405,000 @ 5 7 :270,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
157|731 7v=—yvmn H 6 ?;%IE? 1:(4_4).2 1-1-1-1 409 — | f (4931) g;;i (#A18)
RTANET Y1 BFAT)—HLR BT -4
2lgl14| 77y 7 UL # 8 | HIR 1(:34;1.)3 2-20-2 [40.8| — | 6 | 457 J%Iigg% (#34%)
LRTA NI BT SR TR
v e = s MAEA : 96— - FEAEE (GhFn)
sWl10 7> FX¥+ I 72— "5 57.0 1('3%{)5 968 404 ! f:) ;Wﬁﬁ‘ibtﬁ
LTUBAZIILF BxLavTHA =L
S o6 | SEHEHK 1:44.8 12-11-9-11 | 40.5 | — 7 468 | FIEFARE ()1106)
417111 A% 55.0 (1 1/2) +1) 1|SU‘.%§£
L:Urh—> BLFs—IF14Rb A B
K — A4 44 | FEEBR 1:45.1 5-6-3-4 |41.4| — 2 408 | NEBEZE (11#)
Ml 9| v 1T=277 bA 55.0 (1 1/2) ) | PEE
R g hT—LEY BRY—XT— b eIy e
s S 44 | AEEX 1:45.1 8-8-8-6 | 41.0| — 10 | 524 |BEEETT (Af0)
s o | N—>LHT— 55.0 (\F) (+2) | FEER
L:vayrrhrT B:R-—2Z4— HET77—L
N [ : —13-13- — IgEE (1)
M BT i 5 s 1(.14/52.>2 13-13-13-9 | 40.4 9 f:s(; ;;g@%;
R:TFNTTY BE-FTU-X HET7— L
— = o5 iEZNER : ~-11-10- — 1EERR (MRS
glslg|=v/%vvy 5 frs 1(.14/52.)3 11-11-10-9 | 41.0 8 (4_817) s b
R:T7HIHTFLIY B:XZ—Fa1Iv b N E%5%
NI BEFEI—BR 145. —3-6- . - ig#ats ()11
9 4| TYTFIYad—% B4 44 (11415/25) 3-3-6-5 | 41.8 14 <4+776) e
a4 %> v ML BELLRSF Bt -
N : = : 5 | KEHEZ 1:45.6 5-5-3-3 | 41.9| — 3 510 | tE2ALZ (1E)
(11|37 FAFT—F e (172) Ly |EEETE
RTHIHFLIL BEYE—bYiay RIS
X e . e . 43— — SFIUES ()
» sy TrOLYy v | B 1.(?).2 4-4-3-7 | 42.5 5 (4::37) R
R:A-JXA12214 B:ov RK—T1v7 Eitie]
. . T 7 . —14-14- = Lgye GFn)
0 6| s b o4 ArEA (17.476% 14-14-14-13| 41 .1 13 (4_8;) el
R/ Te BI—URTLAR J—H Ty — L
: # o5 | A 1:46.3 5-7-10-14 [ 42.0 | — 11 519 | KE#EE (fafE)
13712 BT F 0 (72 (o |limEL
=2 K Bihylb—A KX BALBRS
. RFESE 146. -10-12- . — JEEBRIR (KFH)
14lgl13l / —ET7~XY b # 5 L (1742573) 10-10-12-12| 41.8 12 (4_655) Lo
LR T b A—Fp—K—F B:TF ¥ AR
® 1—F—@EBIERL
13—7+— 7,14,4,3,(1,9,12),(2,10),13,8,11,5,6
230—7F— |7,14,4,3,1,9,12,2,10,13,(8,11) ,5,6
§a=7r= 7,14,(1,3,9), (4,10),2,11,(8,12),13,5,6
43—+ — 7,14,1,9,4,2,3,10, (5,8),11,13,6,12
[ N5
B 7 280M 714K 7-14 630F e E 5-8 1,610M JEE 7-10-14 3,930
B B 7 1309 7-10 370M e B 5-8 2,460 3EE 7-14-10 18,620
14 320 10-14 1,430/ B & 7-14 1,810
10 200M B H 7-14 2,750/

ABICOVWTRDTEEERROODE. TR LIV,




